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Note : Attempt questions from each section as per instructions
given under each section.

SECTION - I
Answer any two questions from this section in about
500 words each : 2x20=40

1. Do you agree with the view that
commercialisation of agriculture heralded the
beginning of a phase of rapid development of
capitalism and modernisation ? Give arguments
in support of your answer.

2.  How far have we been successful in achieving the
basic objectives of economic planning in India ?

3.  What are the objectives of land reforms in India ?
How far have these been achieved ?

4. Vocationalisation of education needs to be
strengthened for solving the problem of
unemployment in India. Discuss.
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SECTION - 1I
Answer any four questions from this section in about
250 words each : 4x12=48

5. What do you think was the link between famines
and economic drain during the British rule ?

6. Do you agree with the view that India has vast
mineral potential ? Give reasons in support of

your answer.

7.  What is monetary policy ? What are its objectives
in a developing country like India ?

8. Isittrue that lack of autonomy and accountability
in public sector units is responsible for their poor

performance ?

9.  Discuss the major issues involved in planning for
the growth of an efficient transport system.

10. What are the constituents of urban unorganised
labour ? What are their problems ?
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SECTION - III
Answer any two questions from this section in about
100 words each : 2x6=12
11. How is the ‘line of poverty ‘ defined in India ?
12. Define deficit financing.

13. What are the term - lending institutions ?

14. What is the rationale for proper
Transport - Pricing ?
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